PATLITE.
RIVFIOMNTS

(MULTI-MOUNT BRACKET)

E35Z-130
HY 3% 55 B &=

(INSTRUCTION MANUAL)

AEMIE LS7T DIV MREMIFEZ. BMUMIFRZE 1378270 H5 T47%- 271
ICEEIB4TavIN—YTY,
(This is an option part which changes the mounting holes of the LS7 from 3 and 2 holes to 4 and 2 holes.)

& SZ-130 | #7&K7A + [Off-white) Eo
(Color) | SZ130D | #75—55L— (Dark Gray) {CorrespondingJ Ls7
§7-130S | ¥/JL/A— (Silver) ARG,

G BAWEIL 2012 F 2 AREDHDTY, RFOBESHBIIELL HP ICT TR LT,
[ (Note) This option part will be in effect as of February, 2012. To verify the latest compatible options and model,
please visit our homepage.)
RHTSNED S IER, IS EES EERS iBYET,
A Egg%: [WARNING] FRAFSNED o LIBE, RCFLREELELASTREISVET

(Failure to observe the following may result in death or serious injury.]

AEBEDODATHBEEICESHEVTLRELY, & - BFICORHIZEZThHBYET,
(Do not use the Multi-mount Bracket as leverage when climbing up onto the equipment. Failure to comply will
result in falling from a high place, or damage to the product.)

1 | §EI§0)$¥F & 3% (Part Names and Outer Appearance)
0YYH (0 ing) (R (Legend))

A4 BFRELD AR (94.2)

14? Zf (Main Unit] (4- ¢ 4.2 Hole Installation)
70 | BNy EY B: 2 BAE W3R (64.2)
(Waterproof (2- ¢ 4.2 Hole Installation)
Packing) (8431 (Units) : mm)
Y {312 l_;l.:ol,\‘( W AHF7VA (Installation Hole A  ERY4H37TB (Installation Hole B)
(When Attaching Screws)
7)!&7’7/%777/% ¢10
ARGITIERYHFAOR LY (Multi- ;‘“’/“\”‘ Bracketl . [
FIVE - Fv MIEBLTUVE [Waterprooi Packmg \ g
Hho RIHFERICIE Tt
DEJETHELETL, Ins‘allaﬂon Posmon
(The screws needed for M4®1aL E1eigRIVE) (MA@ screws(or bolts)) M4@D fal [M4®screws]
installation is not included. Use fALEE (mm) =a + [6~26] RALEETmm=a+6
the proper sizes in accordance (Screw Length (mm) = & + [6 to 26] ] (Screw Length (mm) Z @ + 6]
to the installation environment.] GEY Bk Sy £ Y (B CRBE
[ (Note) Sometimes the waterproof packing shrinks after it has been attached.] ~ (fiz (Units) : mm)




E XY £ 3% (Installation) N

AEGE. LS7TEHEFBDE TERY ST BBOMY [IFAEERELTVEY,

OB, UFERRT &5 LTRED
- FOBBHTHBTE

READENTE - A RGHENHRT L

AFE

LS7 13 EIRE TR I T T,

OV THELUBKNY F o ENEHEVWTLEE

L FAKIEREMMETFLE T,

| 1 PEREOL G 6 L S

RIVFROV b
7347y b

-

AT E &R LTLRREW,
DM EFHLEVD

+ LS7TZER Y 1 B DIFEAN—ADH B
- B iR

| 2 EOLTa . APl

Y fHFBUE g

ROMHFEE (48) 2EALT. KV FiE
TRMITRERICI—F VI LTS

E]nuwww-m&n%&wa

RYFE

p ?
lLﬂwﬁH/\A .
DEATT \/ RULEE

I~')Il/7;<t'(~ Y[R E L UERNE
BT EEW

A < 7=o0 1755y rERY TS
BYHINADRE Y RBOBE

@\ W@ HL - gg
— } RIVFITV b E’—'; ?

737y b

N =
'®,
gg/immm 37
%mumﬁwwa i

@D FIVY

B sivszy remuss

U= Fﬁ%#ﬁfﬂxé/&

ey
<YV FORYALIDWTIE, LSTER
BEED (245 v AT IVHEIKD LT
ETECREW,
RN LR M3ERLEEA,

| 6 ETET EGCE

LS7A&K

I — mgricas
7/!&?'7 N

e

U— MREERINISEL, LSTRGKEIVF
RISy MEBRYAHF T EEWD

CRIVFRIDY b T S5y FADERY T
DWTIE, LS7TEUREIAED TR 2 v ATV
W& OV TIZETR L,

)= Fﬁ%t’&"ﬁb;&i&b‘;ah&al,f

. stﬁsév;wvv/ R IS5y kG
HFE. THFv) EEHTBECREI
FoTCRE,




The following is an example on how to mount the Multi-mount Bracket with the LS7.

/\ CAUTION

The following requirements are necessary for proper installation.
- Install the signal tower where excessive vibration is not present.
- Install the signal tower on a sturdy surface.
- Install the signal tower on a level surface.

Install the signal tower in an upright position.

To ensure the waterproofing performance of this product,
do not remove the O-ring or the waterproof packing.

[El Verity the signal tower installation
position.

Multi-mount
Bracket -

* Please check the following things before
mounting.
« Does it interfere with any obstacles?
« Is there enough work space when mounting the LS7?
« Is the attachment direction sufficient?

E Marking holes for wiring and installation.

Installation
Template

Punch, etc.

Use the Installation Template included to
mark the holes with a punch for drilling.

ﬂ Making the installation and
wiring holes.

Y
Y Y
\Arill, etc.

Use a drill to make the mounting and distribution hole.

n Place the bracket in the installation holes.
4-$ 4.2 Hole Installation  2- ¢ 4.2 Hole Installation

M4 @ screws — E
~ Multi-mount -
[t Bracket \@
7 M4 @ screws Pyl
g (or bolts) \./
The screws are tightened &,

from the underside.

Recommended Torque

i
by

Remove the signal tower from
the mount.

LS7 Main Unit

\ £ ¥ Mount
Pull lead wires /v&
from hole

« Refer to " [El Stackable Tower Construction”
section of the LS7 instruction manual for
details on how to remove the mount.

* When using the Multi-mount Bracket, do not
use the LS7 Mount.

E Attach the LS7 main unit to the bracket.

LS7 Main Unit

%\ Thread through

‘ the wiring hole.
Multi-mount

Bracket \@

Thread the lead wires through the Multi-mount
Bracket and wiring hole, before installing the
main unit to the bracket.

* When attaching the bracket,
Refer to “ [l Stackable Tower Construction”
section of the LS7 instruction manual.

* Be careful not to pinch the lead wires or cable.

* The attachment of the LS7 Main Unit and
Multi-mount Bracket is secured when a "click"

sound is heard.




SZ-130 HY Y {317 BUK

HmIEm
(7% —BIOE")

FARAIE {i}

(TY—F %

SARNAIE
(T (%)

fiddgoN (922)

CRBD
A 4 EFREY IR (04.2)

B :2 &rrEX 3R (¢4.2)

X T —F HEDH
ARIIKRTKTY, (B mm)



S$Z-130 Installation Template

Front of product
(Buzzer Direction)

Nameplate position ﬁ
(For Buzzer installed models)

Nameplate position
(For models without
Buzzer installed)

Wiring Hole (¢ 22)

(Legend )
A :4-$ 4.2 Hole Installation
B :2-¢ 4.2 Hole Installation

% For models with the Buzzer installed
The diagram is of actual size. (Units: mm)



E % ¥ (Specifications)

HYHFHEE BE
(Installation Location) (Mass)
BREA #9459
(Indoor use only) [(Approx.45g)

WHRAKZL-BL-ERIEERBITS

#azt )AESTH 1F

www.patlite.co.jp

Ey. ~ -00~17-
(B A 0000000 @iifi-fEmigskaR e :0120-497-090

\_ KTEX it - #MIE X REEEEEEERARICBERVEDEREL. )

PATULITE Corporation

PATUITE Corporation Head office BEwww.patlite.com/
PATLITE (U.S.A ) Corporation Ewww.patlite.com/
PATLUITE Europe GmbH :Germany  Bwww.patlite.eu/
PATLITE (SINGAPORE) PTE LTD Bwww.patlite-ap.com/

PATLITE (CHINA) Corporation BEwww.patlite.cn/
PATLITE KOREA CO.,LTD. BEwww.patlite.co.kr/
PATLUITE TAIWAN CO., LTD. BEwww.patlite.tw/
PATLITE (THAILAND) CO.,LTD. Bwww.patlite.co.th/

| PATLITE MEXICO S.A.de C.\. Iwww.patlite.com.mx/J

BHOBSRES EHF—LN—ITTRIBNET, www.patlite.co.jp l

The latest product information can be viewed ;i
on our company's website. global.patlite.com ]

GE T - BB LUBEL LI, WBOHFELLERTZIELHBYET,

((Note) Dimensions, specifications and structure are subject to change for improvement without notice.

Copyright © 2012 PATLITE Corporation All Rights Reserved.






